ZWTWLIEZY R 5 (BE)

3

®)

(7)

(@)

(13

(15)

a7

)

@21

(23)

(25)

@27)

(29)

60

36

42

28

40

24

o0

80

32

2

30

24

2']

48

79

H H o
@ 4 =25
@ 3 =
® 9% = 7
® 65 @ = 5
(1) 1 48 = 5
2 12 1 = 3
8 1 25 = 6
16 72 : 96 = 3
(18 36 : 30 = 6
e 12 1 = 4
2 6 5 =
@ 2 = 80
0y . 2 = 84
e 9 : =18
@ 25 : 156 = 5

32

24



3

®)

(7)

(@)

(13

(15)

a7

)

@21

(23)

(25)

@27)

(29)

ZWTWELIAX R 5 (B

60

36

42

o4

30

o4

48

2

48

28

40

24

o0

80

32

2

30

24

2']

48

79

2)

4)

6)

8

(10

(12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

(28)

(30)

84

69

40

30

72

36

96

02

48

20

96

30

#5)

2

20

80

84

20

32

24



